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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459272581
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 54592743431 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A series is given with one term missing. Select the correct
alternative from the given ones that will complete the series.

FR, IU, LX,?,RD

Options:

1. = NA
2. OB
3. %= NB
4. v QA

Question Number : 1 Question Id : 54592743431 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk eTshA o I g, SHA @ vk ug e g fov e
fasredl A & a8 Wl fdhed IV, ST 3ThA T G

FR, IU, LX , ? , RD

Options:

1. = NA
2. = OB
3. = NB
4. v OA



Question Number : 2 Question Id : 54592743432 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A series is given with one term missing. Select the correct
alternative from the given ones that will complete the series.

GOB, 0G], WYR, ?, MIH

Options:

1. = FQZ
2.v EQZ
3. * TRA
4. = FRB

Question Number : 2 Question Id : 54592743432 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

sk 3fefshA feam I g, oA @ vk ug ofed g1 feu A
faredl & & g8 @ET [Ahed IV, ST 30THA FT W R

GOB, OGJ, WYR, 7 , MIH

Options:

1. = FQZ
2. v EQZ
3. = FRA
4. = FRB

Question Number : 3 Question Id : 54592743433 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A series is given with one term missing. Select the correct
alternative from the given ones that will complete the series.

AP15, FV16, KB9, PHS, ?



Options:

1. = VM9
2. » VN8
3. v UN7
4. » UMS8

Question Number : 3 Question Id : 54592743433 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk 3efshA o 9T &, SHA & Uk 9T oed g fov e
fasredl & & g8 @ET fashed IMAT, ST 36THA HT T

AP15, FV16, KBS, PH8 , 7

Options:

1. = VM9
2. = VYN8
3. v UN7
4. « UM8

Question Number : 4 Question Id : 54592743434 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the odd word from the given
alternatives.

Options:

1. » Hexagon
2. v Figure
3. = Square
4. = Triangle

Question Number : 4 Question Id : 54592743434 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



%ﬁﬁﬁﬂﬁwaﬁﬁr@mﬁwﬁﬁﬁﬁwemaﬁgﬁm

Options:

1. Seagel
2. v 3fd
3. % gar

4. = eI

Question Number : 5 Question Id : 54592743435 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the odd word from the given
alternatives.

Options:

1. = Wheat
2. » Rice

3. v Curd

4. = Mustard

Question Number : 5 Question Id : 54592743435 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafa@a aea A GV 917 fahedl A & AYA erg FT 0|
Options:
1. = g

2. = dldel

3. v &l
4. = FI@m

Question Number : 6 Question Id : 54592743436 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the odd letter/letters from the
given alternatives.

Options:




1. v VSQL
2. = PMKG
3. = YVTP
4. = MJHD

Question Number : 6 Question Id : 54592743436 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT Ed ueeT # T 9w Gereul & O TaYH 37&87T/378T I
TalT |

1. v VSQAL
2. » PMKG
3. = YVTP
4. « MJHD

Question Number : 7 Question Id : 54592743437 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related words from the
given alternatives.

sun : Star :: Mercury : ?

Options:

1. v Planet
2. » Satellite
3. = Rotation
4. = Small

Question Number : 7 Question Id : 54592743437 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



forafafad mea # Qe a0 faredl # @ Gafad esar S g

2SI I I L

Options:

1. v UB
2. = 393§
3. % gHa
4. = BT

Question Number : 8 Question Id : 54592743438 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related word pair from
the given alternatives.

Wall : Mason :: ?

Options:

1. = Producer : Film

2. » Poem : Chef

3. v Shoes : Cobbler

4. = Editor : Newspaper

Question Number : 8 Question Id : 54592743438 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fratfofad wea & fav @ fasredl & & @&l oog goA A
v

daY  TaET o 7
Options:

1. % TAATT : Thed



2. % HAdT ; FELT
3.%33:341?.111'
4. » gUIgeh : TN

Question Number : 9 Question Id : 54592743439 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related word pair from
the given alternatives.

Scalpel : Surgeon :: ?
Options:

1. = Saw : Gardener
2. » Needle : Author
3. v Sword : Warrior
4. = Plough : Tailor

Question Number : 9 Question Id : 54592743439 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafali@d wead & U 910 fashedl & & HTOd qsg JIH H
AT

&R : Folel = 7

Options:
1. = 3RT : HATell

LY

2. = ¥T : oAk

3. v doldr : Jrear

4. % BT : TSl

Question Number : 10 Question Id : 54592743440 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In a certain code language, ‘GARAGE’ Is written as ‘6,
‘BOUND’ is written as ‘5°. What 1s the code for ‘STRAPED’ in
that code language?

Options:

1. %4
2.% 5
3.v7
4 %6

Question Number : 10 Question Id : 54592743440 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk TAfese I AT A, ‘GARAGE’ 7T 6’ Tol@r AT g,
‘BOUND’ &Y ‘5’ Taram <iar &1 =0 15 8191 & ‘STRAPED’ &
IS FAT &7

Options:

1. = 4
2. = 5
3. v 7
4. = 6

Question Number : 11 Question Id : 54592743441 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, “VALUES’ Is written as ‘EWOQVO’.
What is the code for ‘CAREER’ in that code language?

Options:

1. « YWIVAI
2. v XWIAVN
3. »= XWIVAN
4. = YZIVAI



Question Number : 11 Question Id : 54592743441 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

veh [afese g 9T &, VALUES® 1 ‘EWOQVO’ forEr Srar &
| 3 &g 99T # ‘CAREER’ &7 &5 +T &7

Options:

1. = YWIVA]
2. v XWIAVN
3. = XWIVAN
4. = YZIVAI

Question Number : 12 Question Id : 54592743442 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, ‘TYRE’ is called as “‘WOODy,
‘WOOD 1s called as “WHITE’, “WHITE’ is called as ‘CAR’, ‘CAR’
1s called as ‘TRIANGLE’, ‘TRIANGLE’ is called as ‘YELLOW’.
What do we drive?

Options:

1. « WHITE

2. » CAR

3. v TRIANGLE
4, » YELLOW

Question Number : 12 Question Id : 54592743442 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk Tafese g AT H, TRT ST ‘Ohal’ el SIdr &, ‘olhar
FT ‘he' Fal T &, Ghe R Fal A0l &, FL &l
THersr’ gt ST &, ‘T3(er 1 Orel’ gl Sl &1 g7 T
T &7

Options:

1. » Hhg




2. % hiT
3.$ﬁ'ﬂx_rl'
4. % 9relT

Question Number : 13 Question Id : 54592743443 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A, B, C, D, E and F are sitting in a line facing towards south. A
and F sits together. D sits next to F and to his right. B sits at
the left end. C sits with B and E. Which two persons are sitting
in middle?

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all

candidates.
Options:

1. EandF
2.Eand D
3.DandF
4. Cand D

Question Number : 13 Question Id : 54592743443 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A, B, C, D, E 3T F f&or fr 3T v 3@ & & &1 A 3R
F oo @1 dad &1 D, F & s9rer & 3T 379 a2 30T Saar &l
B, 90 @ WX §adT &1 C, B 33X E. & 1T SadT &1 Hiad &
ar =fea I 7 88 &7

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. Edqar F
2. E dqar D
3. Daar F




4. C qar D

Question Number : 14 Question Id : 54592743444 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

J1,J2,]3, J4 and J5 are sitting around a circular table facing
towards the centre. J1 is sitting at second place to the left of
]3. J5 is sitting to the immediate right of J2. Who is sitting at
second place to the left of J2?

Options:

1.v]4
2. % ]3
3. %1
4. %5

Question Number : 14 Question Id : 54592743444 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

J1, J2, J3, J4 T J5 T MR AT & IRT AT heg hl
3N qE Fh S E1 J1, I3 F TR 3 g@l T« W 83T ¢
J5, J2 & A 218 3 FoT ¥ J2 & ST 3T gy T T
Hie FoT &7

Options:

1. v J4
2. = J3
3. = JT
4. = J5

Question Number : 15 Question Id : 54592743445 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Seven persons Q1, Q2, Q3, Q4, Q5, Q6 and Q7 are sitting
around a circular table facing towards the centre. Q7 1s at
third place to the left of Q6. Q3 is at second place to the left of
(2. Q3 is third to the right of Q4. Q7 is neighbour of Q2. Q5 is
at third place to the right of Q1. Who Is sitting at third place
to the right of Q27

Options:

1. % Q4
2.+ Q1
3. % Q6
4, % Q3

Question Number : 15 Question Id : 54592743445 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g =iga Q1, Q2, Q3, Q4, Q5, Q6 TAT Q7 TH Tl

AS & AR 3N dheg HT A T K $S B Q7, Q6 F I
AT Y T W E1 Q3, Q2 & RN 3N gE T W E

Q3, Q4 & gET 3 d T W &1 Q7, Q2 HT YSIET B

Q5, Q1 & gRT 3T dEY T T &1 Q2 & RIT 3T d/Y

TATT T hiel ST &7

Options:

1. = Q4
2. v Q1
3. = Q6
4. = Q3

Question Number : 16 Question Id : 54592743446 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Eight friends F1, F2, F3, F4, F5, F6, F7 and F8 are sitting
around a circle facing centre. F1 and F7 are sitting opposite to
each other. F3 and F5 are sitting opposite to each other. F5 is
sitting to immediate left of F7. F2 and F4 sit together. F2 sits
with F3. Which of the following is a correct order of people

sitting in clockwise direction?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1.F7,F8,F4,F2,F3,F1, 6, F5
2.F7, F4,F2,F3,F1, F6,E8, F5
3.F7,F4,F2, F3,F1,IF5, 6, I8
4. F7,F2,F3,F4,F1, F5,F6,F8

Question Number : 16 Question Id : 54592743446 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

M aET F1, F2, F3, F4, F5, F6, F7 d2T F8 T MeThR
god & IRT A g kT 3 G & S &1 F1 qar F7 vk
¥ & T 8 &1 F3 Ju1 F5 U g@l & AT &3 &
F5, F7 o &b o0 doT §| Toieafoli@d & & hid &1 arfaionad
f&em A 9 o SSa T Tal FH &7

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. F7, F8, F4, F2, F3, F1, F6, F5
2. F7, F4, F2, F3, F1, F6, F8, F5
3. F7, F4, F2, F3, F1, F5, F6, F8
4. F7, F2, F3, F4, F1, F5, F6, F8

Question Number : 17 Question Id : 54592743447 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



S1, 82, 83, §4, S5 and S6 are sitting on a circular table facing
the centre. S1 sits with S§3 and $4. S4 sits with S5 and $6. §4 1s
sitting to left of S1. Which of the following is correct about

them?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. S5 Is opposite to S2

2. 54 1s second to right of S6
3. 54 1s second to left of S3
4. §1 is opposite to S2

Question Number : 17 Question Id : 54592743447 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S1, 82, S3, S4, S5 JUT SB TH MalhR AT & IRT 3T g
T 3N AT FIF §S &1 S1, S3 dAT S4 & AT §aT &1 S4,

S5 dur S6 & 91T STl &1 54, S1 & A0 FaT g1 eearoiEad
H & hie AT 3eTh T8 H Tar &7

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. 85, 82 & AT &
2. S4, S6 ¥ 0 qET §
3. S4, S3 & U qEU &
4. S1, S2 & AT &

Question Number : 18 Question Id : 54592743448 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




In the following question below are given some statements
followed by some conclusions based on those statements.
Taking the given statements to be true even if they seem to be
at variance from commonly known facts. Read all the
conclusions and then decide which of the given conclusion
logically follows the given statements.

Statements:
I. All pen are blue.
II. Some pen are red.

Conclusions:

I. All red are blue.

II. Some red are blue.
III. Some blue are red.

Options:

1. = Both conclusion I and II follows
2. v Both conclusion II and III follows
3. = Both conclusion I and III follows
4. = All conclusion follows

Question Number : 18 Question Id : 54592743448 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Eﬁﬁﬁ;@?r@q‘i’?rﬁ?aqmd 3T 3% T 3T FUAT W

TR Fo sk fqU a0 §| A0 70 FY=l HT Al A, T8
38 TTHET AT J28 8 eerar gh T @ty 06 v i
iR fY ToF U 910 Fier & ooy, 60 a0 Farar & 3maR
T rFaaed gl

R
. T O, Aol &
||.@ﬁ?f6ﬂﬂ%l

IGE=E

. @t &, siret g1
. FT e, el &l
1. TS ATel, oTel &1

Options:

1. = gl felsehy | JoT || 3eEor FId gl
2. v 2l fasay || Fur Il 3eEor #Id g
3. = 2l fasshy | T Il 3fTEIoT 4T &
4. » FAT TS 3TETOT HLd &

Question Number : 19 Question Id : 54592743449 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question below are given some statements
followed by some conclusions based on those statements.
Taking the given statements to be true even if they seem to be
at variance from commonly known facts. Read all the
conclusions and then decide which of the given conclusion
logically follows the given statements.

Statements:
I. Some 7Z are A.
II. No Ais K.

Conclusions:

I. Some 7 are not K.
II. All Z are not K.
III. Some Z are K.

Options:

1. = Both conclusion I and III follows
2. = Both conclusion II and III follows
3. v Only conclusion I follows

4. = Neither conclusion follows

Question Number : 19 Question Id : 54592743449 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



g QU a0 uest A F FUA AR 3% dg I FUAl W
3renRe Fo fashd Ry av §) Rw 1w wuet F @ AW, 9
30 TTHET ATd d2ar 8 Aeadr g T @ty ue 3T
faegiRa & for QU 710 i @ fawry, QU a0 syl & 39N
T rFaaed gl

2o
I.@—aﬁz,A’éfl

Il. AT A, K T8l &
GRS H

. F5 Z, K &l g1
Il. gl Z, K a8T &1
Il & Z, K &

Options:

1. = 2l fashy | gar |l 3T Al &
2. = 2 fesay || F9r Il 37Eor #d g
3. v had [oshy | 3TTETOT LAl &l

4. » $5 o foIseh§ 3Taor &N T &

Question Number : 20 Question Id : 54592743450 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

In the following question, select the missing number from the
given series.

33, 66,198, 792,198, ?



Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1.1188
2. 100

3. 2500
4. 1000

Question Number : 20 Question Id : 54592743450 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foFafafea weat & & a1 g@or & & ofcd 37F AT HFi0)

33, 66, 198, 792, 198, ?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:
1. 1188
2. 100
3. 2500
4. 1000
Mental Ability2
Group Number : 2
Group Id: 5459272152
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0



Mental Ability2

Section Id : 5459272152

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 5459272582
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54592743451 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the missing number from the
given series.

21, 65,197, 593,1781, 7
Options:

1. = 3210
2. % 2450
3. % 4354
4, v 5345

Question Number : 21 Question Id : 54592743451 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foaatfafEa uear & & a8 @er & & ofcd 37 AT HFIT0)

21, 65, 197, 893, 1781, 7

Options:

1. = 3210
2. » 2450
3. = 4354



4. v 5345

Question Number : 22 Question Id : 54592743452 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the missing number from the
given series.

20,41, 84, 171, 346, ?

Options:

1. = 157
2. % 492
3. = 500
4, v 697

Question Number : 22 Question Id : 54592743452 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foaatfafEa uear & & a8 @er & & ofcd 37 AT HFIT0)

20, 41, 84, 171, 346, ?

Options:

1. = 157
2. » 492
3. = 500
4, v 697

Question Number : 23 Question Id : 54592743453 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A series Is given with one term wrong. Select that wrong term
from the given alternatives.

36, 43, 49, 54, 58, 61, 64



Options:

1. » 58
2. % 54
3. % 061
4 v 64

Question Number : 23 Question Id : 54592743453 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

sk 3fefshA feam o T g, oA & vk ug derd g1 feu A
fasredl & @ 39 T TE HT A0

36, 43, 49, 54, 58, 61, 64

Options:

1. = 58
2. = b4
3. = 61
4. v 64

Question Number : 24 Question Id : 54592743454 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the number which can be
placed at the sign of question mark (?) from the given
alternatives.

4. 13 | & |50
319|463
4 | 8|2 | ?
Options:
1. = 41

2. % 43



3. = 47
4. v 48

Question Number : 24 Question Id : 54592743454 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foFaTol@d ool H U a0 fahedl & & wod eg (7) &
TATA T 3T TTell TEAT T AT

4 [ 3
3 |9
4 | 8

50
63

b | | O

Options:

1. = 41
2. % 43
3. = 47
4. v 48

Question Number : 25 Question Id : 54592743455 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the number which can be
placed at the sign of question mark (?) from the given
alternatives.

17 | 45 | 23
15 | 67 | 48
24 | 28 | 35
164|212 | ?

Options:

1. v 169

2. % 179

3.% 214



4. % 314

Question Number : 25 Question Id : 54592743455 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ffel@aa wed # fw v et & & weed ”eg (D) &+
T T 3T dTell TEAT I AT

L7 | 45 | 23
15 | 67 | 48
24 | 28 | 35
164|212 ?

Options:

1. v 169
2. = 179
3. % 214
4. » 314

Question Number : 26 Question Id : 54592743456 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the number which can be
placed at the sign of question mark (?) from the given
alternatives.

4] 7
5105 o|s5]s A

[
=s]
L
oy
-1
Lh

Options:

1. % 2
2. %7
3.v9
4. %11

Question Number : 26 Question Id : 54592743456 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

foFaTol@d ool H U a0 fahedl & & wod eg (7) &
TAT 9T 3T TTell TEAT I a0

Aol F | & 3 5 g | 3
519 |5 9|5 |8 7 | 2
Options:
1. = 2
2. % /
3. ¢v9
4. = 11

Question Number : 27 Question Id : 54592743457 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

By interchanging the given two signs which of the following
equation will be correct?

+and x
Options:

1. 36 +19 + 37 x9 =39
2. 43 11~ 24 x 12 =17
3.#16x5+11+11=281
4. v13-43 x 11~ 22 =-73

Question Number : 27 Question Id : 54592743457 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fou 1w 3 Rgal && 399 § WEIW o W aFiorad &
T sl GT TERTOT TGET ge?

+ g7 X



Options:

1.« 36 + 19 + 57 x 9 = 39
2. % 43 - 11 = 24 x 12 = 17
3. » 16 x 5 + 11 + 11 = &1
4. v 13 - 43 x 11 + 22 = -/3

Question Number : 28 Question Id : 54592743458 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If ‘A’ means “+’, ‘B’ means -, ‘C means x’ and ‘D’ means -+,
then which of the following equation is correct?

Options:

1. = 8BA32D8C2 > 20
2. » 63D3C2B6 > 10
3. v TA21D7C2 > 10
4. % 25D5C2B8 > 10

Question Number : 28 Question Id : 54592743458 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ifg ‘A’ T 3T+, ‘B FT HT 2, C R T X gUT ‘D OHT
T ‘2 @, ar TaeIteliaa & @ i a1 gARIor T8l &7

Options:

1. = 8A32D8C2 > 20
2. = 63D9C2B6 = 10
3. v /A21D/7C2 = 10
4. = 25D5C2B8 > 10

Question Number : 29 Question Id : 54592743459 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If 635 = 84 and 597 = 126, then 484 = ?

Options:



1.+ 96
2. % 102
3. %90
4, % 88

Question Number : 29 Question Id : 54592743459 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gfg 635 = 84 gur 597 = 126 &, oY 484 = ?

Options:
1. v 96
2. = 102
3. % 90
4. » 88

Question Number : 30 Question Id : 54592743460 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the diagram that best represents the relationship
among the given classes.

Green, Blue, Colours

Options:

. ©
,.[©




4.&—?

Question Number : 30 Question Id : 54592743460 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

9% 3N Fiav S @ RE 1w qanl & = & qoe w1 F@Y
fo®qor FIar &I

&1, aiTell, 391

Options:

. @
. [©

Q)e

. [&

Question Number : 31 Question Id : 54592743461 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the diagram that best represents the relationship
among the given classes.

Iron, Carbon, Element



Options:

1.&?

Q

Question Number : 31 Question Id : 54592743461 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

9% 3@ Ifav St & fow 9w gt & f= F dey w7 o
fFTuT AT &

ol&T, hIslel, dcd

Options:

(&

(©o




N (©

©D

Question Number : 32 Question Id : 54592743462 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(Q i1s South East of P. R is East of (). S is South of R. T is East of
S. In which direction is P from T?

Options:

1. = North
2. * West
3. v North West
4. = South West

Question Number : 32 Question Id : 54592743462 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

QPHEIT @ HE R QF 7@ & ¥l S, R & aor # &
T, S& g & &I P, T8 forg feer & &7

Options:

1. = 3cad¥
2. = UeOH
3. v 3cad UeaH
4. = ZTETOT URYTH

Question Number : 33 Question Id : 54592743463 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Raman walks 100 metre toward North. He turns right and
walks 360 metre. He again turns right and walks 240 metre.
In which direction is he now from the starting point?

Options:

1. = South West
2. v South East
3. = North West
4. = North East

Question Number : 33 Question Id : 54592743463 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THa 3cad 1 30T 100 AT Teldl &1 9§ 0 HsdT § 24T 360
HIET =T §1 98 Yel: 0 AST § AT 240 et =elar &1 a8
IRAw fog & 3@ forg foer 7 &2

Options:

1. = GI&or uieaH
2. v afEroT gF
3. * 3ca¥ UTEITH
4. » 3c @

Question Number : 34 Question Id : 54592743464 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the figure which can be
placed at the sign of question mark (?) from the given
alternatives.

JAN| 74N | AN | K 17N

Options:




¢¢’
<

|| £
) 29
3. %

Question Number : 34 Question Id : 54592743464 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFeIToad wed A 2T 91 [AFedl A & W e (?) &
Tl OT 3Tl dTell 3TRid T AT

N[N R




XY

Question Number : 35 Question Id : 54592743465 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the wrong figure from the
given series.

ANAN NN R A

N

1. =
W

2. ®
WD

3.v

N




Question Number : 35 Question Id : 54592743465 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafelf@d aeat A, &1 =0T Yz A & Tod FiA T AT

NN SN | INT [ SR N

e
W

2. %
WD

3. ¢
N

4, =

Question Number : 36 Question Id : 54592743466 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the odd figure from the given
alternatives.

Options:




4.@?

Question Number : 36 Question Id : 54592743466 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faraferf@d uear A, fov arv fAsvedl A & faww 3mpfa A glav)

Options:

(1|0
&




(5|0
4 o [

Question Number : 37 Question Id : 54592743467 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many Triangles are there in the given figure?

Options:

1. = 10
2.v11
3. % 12
4 %9

Question Number : 37 Question Id : 54592743467 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& a8 3t A Toheer Fagst &7

Options:

1. = 10
2. v 11
3. = 12



4. = 9

Question Number : 38 Question Id : 54592743468 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three positions of a dice are given below. What will come
opposite to face containng ‘@

3. *= %
4 % &

Question Number : 38 Question Id : 54592743468 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A Uk O T Alel IETUV & R §1 @ IFA Telh
aodta =T AEe?

3. = %
4. = &

Question Number : 39 Question Id : 54592743469 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Two positions of a dice are given below. What will come
opposite to face containng ‘A’?

1xc
2. % B
3.vD

4 % K

Question Number : 39 Question Id : 54592743469 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o Ueh IR hr & 3wy &1 Ay &1 A’ e el
Ao =T AEe?

1. = C
2. » B
3. v D
4. = K

Question Number : 40 Question Id : 54592743470 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following cube cannot be formed?

8| K
N |

> £ £ &2

SRR
I 11 I11 IV

Options:

1. » T and III

2. v Il and IV

3.« Tand IV

4. = II and III

Question Number : 40 Question Id : 54592743470 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TAFATlT&T # T i AT U oIal dol Hehdl &7

8 |K
N | %

P
SEENGENGE
I I1 11 1\Y

Ttw | T Il

2. v |l qar IV



3. = | T |V

4, = || T2t Il
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Question Number : 41 Question Id : 54592743471 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Parsi new year is known by which of the following names?

Options:

1. v Navroz

2. % Zoroast

3. = Shab-e- Yalda
4. = Majda



Question Number : 41 Question Id : 54592743471 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

qRET dg ay fede@d # @ ofg a7 O AT ST &7

Options:

1. v TalaT

2. % SIRI3TEd
3. » AF-U-Tolal
4. = HIET

Question Number : 42 Question Id : 54592743472 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which of the following dances does artist need to balance
earthen and brass pots on their heads?

Options:

1. = Tippani
2. » Garba
3. v Bhaval
4. = Koll

Question Number : 42 Question Id : 54592743472 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafolad # & fhT o H, Farprl # 39e 8 T fAET

AT Yol o Sclall T Tdfeld FIAT BT &7

Options:

1. = feogar
2. » INHET

3. v fas
4. % el

Question Number : 43 Question Id : 54592743473 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Bade Ghulam Ali Khan was famous for which of the following
art forms?

Options:

1. = Dancing
2. v Singing
3. » Painting
4. = Writing

Question Number : 43 Question Id : 54592743473 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S I el Tl TaFdToliEd # 8 g Fal & Tolv uEg 47

Options:

1. % ofcd

L

2. v 9T
3. » RIARNT
4. = oIl

Question Number : 44 Question Id : 54592743474 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Nautanki’ tradition is associated with which state?

Options:

1. v Uttar Pradesh

2. = Gujarat

3. = Assam

4. = Madhya Pradesh

Question Number : 44 Question Id : 54592743474 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:



B W=
®

. % HET Yaer

Question Number : 45 Question Id : 54592743475 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What contributed largest share to the government revenue as
per Budget 2019 — 207

Options:

1. = Customs

2. v Corporate Tax

3. = Goods and Service Tax
4., = Income Tax

Question Number : 45 Question Id : 54592743475 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ol 2019 - 20 F 3eAR THRT Toled H T S5T JMarere
IEXCN-

Options:

1. = HAT-Teh

2. v HITIRE

3. » a&q 3R dar W
4. = THRT

Question Number : 46 Question Id : 54592743476 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following receipts does not form part of
Consolidated Fund of India?

Options:



1. = Revenues received by the government
2. = Loans raised by the Government

3. v Provident Funds

4. = Receipts from recovery of loans granted

Question Number : 46 Question Id : 54592743476 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TaatTelid H & le T T HRA & HAThd HIT HT EEam
el &7

1. = IR SdNT Utd ITeled

2. » G GERT ToldT a1=aT =oT
3. v #iasy At
4%3{W5ﬁ|'aﬂﬁﬁm

Question Number : 47 Question Id : 54592743477 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Contingency Fund of India is placed at the disposal of to
meet urgent unforeseen expenditure by Government of India.

Options:

1. v President

2. = Prime Minister

3. » Parliament

4. = Comptroller and Auditor General of India

Question Number : 47 Question Id : 54592743477 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HNT HLHR GIRT Tcehlel ITCATRIT S I T el & folv
HT hT TR EHSAT [dATS I & Tadere # @ AT &

Options:




x TITTHAT
THe,
x AN & faaae 3N Ag@HieTH

Question Number : 48 Question Id : 54592743478 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Embryo gets nutrition from the mother’s blood with the help
of

Options:

1. = Vagina

ol
#®

2. = [Jterus
3. v Placenta
4. = Fallopian Tube

Question Number : 48 Question Id : 54592743478 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HOT T T HEAT § AT & O & aivor fferar &

Options:

1. = el

2. = T

3. v To/lber

4. = 37sATGHI helllode TS

Question Number : 49 Question Id : 54592743479 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following metal is stored in kerosene?

Options:

1. = Copper
2. % ZInc



3. v Sodium
4, = Cadmium

Question Number : 49 Question Id : 54592743479 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafali@d & & &l @1 a1g AT & do & &I F1ar 87

Options:

1. = &I
2. = Toleh
3. v OIEgH
4. » FsfagH

Question Number : 50 Question Id : 54592743480 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following natural source — acid pair Is incorrect?

Options:

1. v Tomato — Acetic acid

2. » Lemon — Citric acid

3. = Curd - Lactic acid

4. = Ant Sting — Methanoic acid

Question Number : 50 Question Id : 54592743480 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feafafEa A & sla d1 whidss Fid - 376 SISl aod &7

Options:

1. v THAERT - vfafesw 31Fa
ws-ﬁa;\_%@q;m
x Tal - ofldca 3ol
x TIET & 3 - RIS 37Fal

Question Number : 51 Question Id : 54592743481 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Focal length of a concave mirror with radius of curvature 50
cm is

Options:

1. = 100 cm
2. % 45 cm
3.v25cm
4. = 150 cm

Question Number : 51 Question Id : 54592743481 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

50 @.HT. TohdT TISAT aTel Ueh 3fdclel GUUT 1 Blehel gdT
e

Options:

1. = 100 @7
2. % 45 @AY
3. v 25 A
4. = 150 T.AT.

Question Number : 52 Question Id : 54592743482 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If 10 A of current is supplied for 60 sec and the voltage across
the circuit is 10V, then how much heat is produced by a
conductor?

Options:

1. v 6000 ]
2.%60]
3. % 600]
4. % 0.6]

Question Number : 52 Question Id : 54592743482 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

IfE 60 AHUS & foIw 10 A T URT HT YL Hr ST & T2

gRTer # d@ledol 10 V &, al U AToleh Tohdal FSAT T 3cUlcd
LT &7

Options:

1. v 6000 J
2. = 60 J
3. = 600 J
4. = 0.6 J

Question Number : 53 Question Id : 54592743483 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In context of the Chlor — Alkali process for formation of
sodium hydroxide, which of the following statements is
INCORRECT?

Options:

1. = Chlorine gas is released at anode

2. = Hydrogen gas iIs released at cathode

3. » Sodium hydroxide is formed near the cathode
4. v Sodium hydroxide is formed at anode

Question Number : 53 Question Id : 54592743483 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

OITSTH EISSIFTISS Follel & Tol0 Falld - & UfshaT H,
fTeiET A& & i a1 o ITod &2

Options:

1. = UaIg W FaRI T 3ciaid 8T 8l
2. % FT W e g 3cafea gar gl
3. % HAE F U AISTH BSSFTSS T HATOT AT &l




4. v YIS 9T QIfETH gEgiegrss &1 AT gar &

Question Number : 54 Question Id : 54592743484 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

The nature of image formed by concave lens is

Options:

1. = virtual and inverted
2. v virtual and erect

3. = real and inverted

4. = real and erect

Question Number : 54 Question Id : 54592743484 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3acel ofF SaNT eIl T Tidiss Tehiad H g &l

Options:

1. = JTHTET JAT IelaT
2. v 3THATET JAT 9rar

3. = gIEAaF ToT 3¢l

4. = GIEATAh d2T ST

Question Number : 55 Question Id : 54592743485 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Atmosphere of Venus is made up of thick white and yellowish
clouds of which acid?

Options:

1. = Hydrochloric acid
2. v Sulphuric acid

3. » Nitric acid

4. = Carbonic acid

Question Number : 55 Question Id : 54592743485 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ok T argASel ThE 3T & el edd 3T drel areel & e g7

Options:
1. = GISSIFalleh 3TFal

2. v GoHgeh 3o

3. = FATS¢eh 3F

4. % FTelaeh 3F

Question Number : 56 Question Id : 54592743486 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which is the largest ocean in the world?

Options:

1. » Indian ocean
2. v Pacific ocean
3. = Atlantic ocean
4. = Arctic ocean

Question Number : 56 Question Id : 54592743486 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Feg T go 8 F2T AREIER hieT AT §7

Options:
1. = T@g ATHEPR

2. v Ted ASHRR

3. % 3Tolllesh AGTIR
4. = 3Tehiceh HETARR

Question Number : 57 Question Id : 54592743487 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

is defined in the Census of India as the number of
females per 1000 males in the population.

Options:



1. = Male Female Disparity
2. = Population Ratio

3. » Gender Count

4. v Sex Ratio

Question Number : 57 Question Id : 54592743487 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T $TR =T STefarolall H Wi 1000 T&NT 9 HAfgesf
T T&IAT & 7 H TRATNT a1 =7 Bl

Options:

1. = I89 - T avadr
2. * SIAHEAT HeIUTd
3. = folar arorar
4.%1%!?31@?1?[

Question Number : 58 Question Id : 54592743488 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Polavaram Irrigation Project is associated with which state?

Options:

1. » Gujarat

2. » Kerala

3. = Maharashtra

4. v Andhra Pradesh

Question Number : 58 Question Id : 54592743488 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e H B aAeeT g o @ gefag &7

Options:

1. % FSRI
2. % hlel



3. * HENISE
4. v 3T USeT

Question Number : 59 Question Id : 54592743489 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

are oscillatory movements that result in the rise and
fall of water surface.

Options:

1. v Waves

2. = Abyssal Plains

3. = Ocean Currents
4. = Continental Shelf

Question Number : 59 Question Id : 54592743489 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

groler AT & S oo Tdg & 3¢ 3T uada &
IO 8l &l

Options:

1. v 3

2. = Tadeld #Herad
3. » AZNERRIT gRI0
4, = HEEAINRT deh

Question Number : 60 Question Id : 54592743490 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is/are island(s) of Lakshadweep?

I - Kavaratti
IT - Minicoy
III - Agattl

IV - Kadmat



Options:

1. = Tand II

2. I, III and IV
3.« ILITand IV
4.« 1,11, 1T and IV

Question Number : 60 Question Id : 54592743490 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TrEfaEd & @ S T oy aeedT S ey B

Il - 373TcdT

IV - shaHT
Options:
1. = | 2T

2. = |, Il T IV
3. = I, N, aqar IV
4. v |, I, I For [V
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Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 54592743491 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Sunderbans’ delta is formed by which rivers?

Options:

1. v Ganga, Brahmaputra and Meghna
2. = Krishna , Kaveri and Godavari
3. = Ganga, Brahmaputra and Yamuna
4. = Krishna, Mahanadi and Kaveri

Question Number : 61 Question Id : 54592743491 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Yool Secl fohel AfeAT ZaRT S/ T ST §7

Options:

1. v 30N, FEAYT 3T AeaT
2. % U, HIHT AT el
3. = I, FEAYT AT I
4. = UM, AGTAT 3 sHIeRT

Question Number : 62 Question Id : 54592743492 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the successor of Babur?




Options:

1. v Humayun

2. = Sher Shah Suri
3. = Jahangir

4. = Akbar

Question Number : 62 Question Id : 54592743492 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STe ShT ScadITeehil hleT 2T?

Options:

el

1.«3@?@
2. = TAE FIAT
3. « SR
4. = 3N

Question Number : 63 Question Id : 54592743493 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following two architects designed New Delhi
and its important buildings?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. Sir William Emerson and Benjamin Baker

2. George Altchison and Herbert Baker

3. William Burn and George Washington Browne
4. Edward Lutyens and Benjamin Baker

Question Number : 63 Question Id : 54592743493 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafali@d A & fohet a7 adaRT @ @8 feeell 3R @Rt
AgcaqUl SHARGT T FRET Falls 2AT?




Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. O AT H TAOS dUT Sollfde sehd
2. Slel 3B ddT &8¢ dahl
3. Afogw s T e arfeeed s34

L

4. UsAs off¢Idd JUT dliHd S

-

Question Number : 64 Question Id : 54592743494 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who founded Vijayanagar Empire?

Options:

1. * Bukka Raya and Viranarasimha Raya

2. = Krishnadeva Raya and Rama Raya

3. = Viranarasimha Raya and Krishnadeva Raya
4. v Harihara I and Bukka Raya I

Question Number : 64 Question Id : 54592743494 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

RS TTHTST hr T2amaaT forder hr of?

Options:

1. » ok T 3R IR T
2. « FoURRT I 3N TH T

3. » dNeRHE T 3N Foodg 1
4. v gRET | 3R gFw T |

Question Number : 65 Question Id : 54592743495 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Treaty of Salbal was signed after which war?

Options:

1. = Third Battle of Panipat




2. » Second Anglo-Maratha war
3. v First Anglo-Maratha war
4. = First Anglo-Mysore war

Question Number : 65 Question Id : 54592743495 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HTeETs T T W gasr 77 Jg & o 5 9w a7

Options:

1. = UTeigd HT FET =518

2. = T TIl-ALST TE
o

3. v UUH TIol-AI3] T8
4. « qUH VIol-HET IE

Question Number : 66 Question Id : 54592743496 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the Governor-General of India from 1848 to 18567

Options:

1. * Warren Hastings
2. v Lord Dalhousie

3. » Lord Ripon

4. = Charles Cornwallis

Question Number : 66 Question Id : 54592743496 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1848 T 1856 dh AR Rl ITdeL STaldel hiel AT?

Options:

1. » TR giEeag
2. v ollg Solgiar
3. % ois N9

[ W sl i
4. = YTedH hloddlileld




Question Number : 67 Question Id : 54592743497 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Harisena was the court poet of which of the following rulers?

Options:

1. v Samudragupta
2. = Chandragupta
3. * Kumaragupta I
4. = Chandragupta II

Question Number : 67 Question Id : 54592743497 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g TaeToEad # O g o & IENRT g 47

Options:

1. v GHGITA
S0000
2. = TgaTd

-2

3. & hHANCT |
s P
4. = TgaTed T ||

Question Number : 68 Question Id : 54592743498 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

NITI Aayog partnered with which of the following to promote
women entrepreneurs?

Options:

1. = Facebook

2. = Twitter

3. v WhatsApp
4. = Snapchat

Question Number : 68 Question Id : 54592743498 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Afgem Seafaat & gem@r & & fov Aifq 3T & fFad
GTSERT T 87

Options:

1.&1?5&@3:
» fegex

2. !
3. v geavyg
4.

x TelTdC

Question Number : 69 Question Id : 54592743499 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

World’s first women’s cricket magazine is called

Options:

1. = Cric queen
2. v Criczone

3. = Cricketers
4. » Crickerick

Question Number : 69 Question Id : 54592743499 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faeq & ygelr ATET fohehe TTIHT FT aATH gl

Options:

1. = Topeh AT

2. v Toher Sl
3. % Tohehcd

4. = Toreh Toheh

Question Number : 70 Question Id : 54592743500 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who won the Red Ink Award for ‘Journalist of the year’2019
for excellence in Indian Journalism?



Options:

1. = Barkha Dutt

2. v Rachna Khaira
3. = Arnab Goswami
4. » Ravish Kumar

Question Number : 70 Question Id : 54592743500 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HRA TR H Scpsed & folv afaissd IS g 3/@s #
'Seiferee 36 g 330 2019 Tohgar Siar?

Options:

1. = STET &cd
2. v T T
3. = 37eld INEATAT
4. = TR $AX

Question Number : 71 Question Id : 54592743501 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which historian and writer has been elected as international
member of American Philosophical Society (APS)?

Options:

1. = Meenakshi Jain

2. * Dwijendra Narayan Jha
3. v Romila Thapar

4. = Nayanjot Lahiri

Question Number : 71 Question Id : 54592743501 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forg S8R TT o1& I AN areifelsh HTST (T.U.0H)
FT HeTT AT AT &7

Options:




% FHIATET SteT

« feasig ARTIoT =M
v UTHAT AT

x AT oTgar

Question Number : 72 Question Id : 54592743502 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Indian Actress Sheela, won JC Daniel Award for her
contribution towards which of the following?

Options:

1. v Malayalam cinema

ol

2. « Tamil cinema
3. *» Telugu cinema
4. = Kannada cinema

Question Number : 72 Question Id : 54592743502 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT ATHeST efielr, s .87 sfage 3@ a8 I foras ufa
ARENT & T far am=r &7

Options:

1. v HelgTerH BetaT
2. » dfdHe [EaAr
3. = Ao faaar
4. = Feag AT

Question Number : 73 Question Id : 54592743503 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

NALCO an Odisha based Navratna Company has been selected
for President’s award for which of the following scheme?

Options:




1. = Biju Krushak Kalyan Yojana
2. = KALIA Scheme

3. v Aliali Jhia Scheme

4. » Mamata Scheme

Question Number : 73 Question Id : 54592743503 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=T # 8T dalcel hUaT siTeeh! T [aFafoi@d # & g
TretaT & ToIT Tegdid RERR & T Jar a=m g7

Options:

1. % S5 FYF FeATUT AlSTel
2. % SHTelAT JloTell

3. v 3ifergrelr Brar aerer

4.

« HHAAT it

Question Number : 74 Question Id : 54592743504 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following pairs is correct?

Options:

1. v Dr. B.R. Ambedkar — Chairman of the Drafting Committee

2. = Rajendra Prasad — Vice - Chairman of the Constituent
Assembly

3. » Jawahar Lal Nehru - Founder of Swatantra Party

4. = Shyama Prasad Mukherjee — Defence Minister in Union
Cabinet

Question Number : 74 Question Id : 54592743504 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT Ed H & ahied &T ST Hal &7

Options:

1. v 3T &I, 3. ST - AGIET ATATT & 3yeTe




2. % ITolg TS - 3UTETET - Al T & 37eTe
3. x SIGIEY ol dg® - Tadd gl & A&
4. = 9YTAI Hﬂlqﬂ?ﬂsﬁ—ﬁﬂﬁﬁﬁwﬁrwﬁ

Question Number : 75 Question Id : 54592743505 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following subject is in the concurrent list of

Indian Constitution?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. Education

2. Marriage

3. Forests

4. Weights and Measures

Question Number : 75 Question Id : 54592743505 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fraTolad # & Sia &7 Y ARG Aiadrel $1 GAgdr gar
HE?
Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all

candidates.
Options:

1. fove

2. o

3. dd

4. AT 3T AT

Question Number : 76 Question Id : 54592743506 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Disqualification of Members of Parliament (MPs) and
Members of Legislative Assembly (MLAS) on grounds of
defection comes under

Options:

1. » Ninth Schedule
2. » Fourth Schedule
3. v Tenth Schedule
4. = Second Schedule

Question Number : 76 Question Id : 54592743506 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Solecol o 3TYN 9¥ FiEar A fgurest T fagar %
Aaeta T &

Options:

1. = il 3=l
2. » LT THT
S.wa
4. = FET g

Question Number : 77 Question Id : 54592743507 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Right to Protection of Life and Personal Liberty comes under
which Article of the Indian Constitution?

Options:

1.+ 21
2. % 20
3. % 32
4. % 30

Question Number : 77 Question Id : 54592743507 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



gToT 3T &fgeh TadadaT T TIETUT AR 19T & ford
3oTesde o JTcTete 3T &7

Options:

1. v 21
2. = 20
3. = 32
4. = 30

Question Number : 78 Question Id : 54592743508 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who won gold medal in the 200m category at Kutno Athletics
Meet 20197

Options:

1. v Hima Das

2. = V.K. Vismaya
3. = P. Saritaben
4. = Sonia Baishya

Question Number : 78 Question Id : 54592743508 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2019 T Feoll veafeFa Hie A TR ¥ fFaa 200 AT 3o &
TTUT Ugeh SIIdT?

Options:

1. v BAT =9
2. % dr. o TaEAar
3. » UI. gRares

4. = QifaTT F2IT

Question Number : 79 Question Id : 54592743509 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




Who won Wimbledon 2019 in men’s singles category?

Options:

1. = Roger Federer
2. v Novak Djokovic
3. » Rafael Nadal

4. = Andy Murray

Question Number : 79 Question Id : 54592743509 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

2019 & Td&selse CoATHC ol TEY Ushel frgar SaT?

Options:

1. » Vol HeW

-

2. v dAareh SehE
3. % %ol oISTol
4. » TSI AY

Question Number : 80 Question Id : 54592743510 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

India’s FIFA ranking on 25th July 2019 was :

Options:

1. = 102
2.+ 103
3. =101
4. = 105

Question Number : 80 Question Id : 54592743510 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

25 STelg 2019 T R T HIor Tfhar 2|

Options:

1. = 102
2. v 103



3. # 107
4. = 105

Arithmetic Abilityl
Group Number : 5
Group Id: 5459272155
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability1
Section Id : 5459272155
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459272585
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54592743511 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the value of 225 + 15 x 8+ [524 +4+9 -6 x 3]?

Options:

1. = 240
2.v 242
3.= 244
4. % 236



Question Number : 81 Question Id : 54592743511 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

225 + 15 x 8 + [624 + 4 + 9 - 6 x 3] T AT FAT &7

Options:

1. = 240
2. v 242
3. = 244
4. = 230

Question Number : 82 Question Id : 54592743512 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the value of: 3Hs6 - {/2_3
Options:

1.+ 8
2. % 16
3. = 10
4, % 12

Question Number : 82 Question Id : 54592743512 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

4256 + 42° @1 AT FAT ¥?

Options:

1. v 8
2. = 16
3. = 10
4. = 12

Question Number : 83 Question Id : 54592743513 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



hat is the val f1+1+]2 — e
What 1s the value of: & 4 12 8x2 2x12 12x4

Options:

1. = 1/144
2. v 49/576
3. % 1/24
4. = 48/629

Question Number : 83 Question Id : 54592743513 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1.0 A X K3 i O g
g4 do 82 2x12 124 ) PN A F 7
Options:

1. = 1/144
2. v 49/576
3. = 1/24

4. = 48/629

Question Number : 84 Question Id : 54592743514 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

138+122)* —(138—122)
234

What is the value of: [

Options:

1. = 260
2. v 287.79
3. % 256.77
4. % 249

Question Number : 84 Question Id : 54592743514 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



(138+122)* —(138—122)°
— T AT T 22
Options:
1. = 260

2. v 287.79
3. = 256.77
4. = 249

Question Number : 85 Question Id : 54592743515 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is the smallest?

Options:

1. % /17 + /18
2. % /22 + /13
3. v V11 + /24
4. % /16 + /19

Question Number : 85 Question Id : 54592743515 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

eafe™@a # @ i a1 g8 ST &7

Options:

1. = V17 + /18
2. % /22 + /13
3. v V11 + /24
4. = /16 + /19

Question Number : 86 Question Id : 54592743516 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

7 1
If x = 2 + V6, then what is the value of: (X +—2J
X

Options:



1. = 197 + 80+/6

2. % (24 + 3/2)/4
3. v (646 + 25)/2
4. = (946 + 4+/8)/6

Question Number : 86 Question Id : 54592743516 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1
T x =2 + 6 g, H‘r[XZJf;]Hmw%?
Options:

1. = 197 + 80/6
2. % (24 + 3/2)i4
3. v (646 + 25)/2
4, = (96 + 4/8)/6

Question Number : 87 Question Id : 54592743517 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following will be the descending order of the
given values?

Options:

1 « 315,410,420
. 320,115,425

3. B

A . 04035



Question Number : 87 Question Id : 54592743517 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFafel@a & @ iad &7 & a0 ATAY T 3GUST hA BEm?

Options:

|, ¥4

[F¥]

20 ,-/15.475

3, o 5045

A 045035

Question Number : 88 Question Id : 54592743518 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which is that least number which after becoming double of
itself will be exactly divisible by 12, 18 and 21?

Options:

1. = 63

2. % 252
3.v126
4. % 196

Question Number : 88 Question Id : 54592743518 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I8 YA TEAT hisd T §, ST TIT T 21T 81 S &
qeT 12, 18 dom 21 & YU fdwTiaia &l Seefr?

Options:

1. = 63




2. % 252
3. v 126
4. = 196

Question Number : 89 Question Id : 54592743519 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

9 1 1 3
If 85 =h e W = =, then what is the value of x?

Options:

1. % 2
2. % 1/2
3.v1
4, %0

Question Number : 89 Question Id : 54592743519 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T3 X+l 1 3

ofg 8 +16 —%=Eﬁ,a’rxﬁrmw%‘?
Options:

1. = 2
2. % 112
3. v 1
4. = 0

Question Number : 90 Question Id : 54592743520 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is the largest?

Options:

1 x 3



Question Number : 90 Question Id : 54592743520 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TiFTTolT&d H & i &1 o 5T 87

Options:
1. % 3
2, x 15
3. v ¢
A w201

Question Number : 91 Question Id : 54592743521 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

40 kg of sugar costing Rs 14 per kg is mixed with 20 kg of
sugar costing Rs 22 per kg. What is the cost of the mixture?

Options:

1. = Rs 27.7 per kg
2. = Rs 13.33 per kg
3. v Rs 16.66 per kg



4. = Rs 18 per kg

Question Number : 91 Question Id : 54592743521 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

14 T 9fq foR.am. Heg arelr 40 foram. el 1 22 39 uf
Toh.aIm. Heg arell 20 Toram. < & @y HAemar = &1 f#smor

T Hed T §7

Options:

1. = 27.7 9 9fa TR.am.
2. = 13.33 393 feram

3. v 16.66 39 Ui fek.am.
4. = 18 ®9F yia for.am.

Question Number : 92 Question Id : 54592743522 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

20 TIZHI F U THE =T AT 3 19 a¥ g1 16 a¥ 3y

dlell Veh elseanl ‘HH@ ‘5_9'\I$°h*{ Tell olldl %-I Uen a2l e1senl 'HH“E:

# enfAe &1 ST & 21 |@Ag 7 sied 3y 1 9y & ¥ S §
| =T gk HT Y FAT §7

Options:

1. v 36
2. % 32
3. = 26
4. = 35

Question Number : 92 Question Id : 54592743522 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Average age of a group of 20 boys is 19 years. A boy having
age 16 years leaves the group. A new boy joins the group and
the average age of the group increases by 1 year. What is the
age of the new boy?

Options:

1. v 36
2. % 32
3. % 26
4, % 35

Question Number : 93 Question Id : 54592743523 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average weight of a class of 20 students is 36 kg. If 2 new
students of weight 22 kg and 28 kg are added to the class, then
what will be the new average weight of 22 students?

Options:

1.v 35
2. % 36
3. = 37
4. % 35.5

Question Number : 93 Question Id : 54592743523 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh helT o 20 faearfeat o sftaa s 36 fram &1 afg 22
for.am 3R 28 fh.am. & arel 2 ¢ ATl &I e & g
fear ST, ar 22 Reardfat &1 a9 e ar 37 ghm?

Options:

1. v 35
2. % 36
3. = 37




4. = 35.5

Question Number : 94 Question Id : 54592743524 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a village, 45% people of the total population are literate
and remaining are illiterate. If the number of illiterate people
is 330, then what is the total population of village?

Options:

1. = 300
2. % 500
3. v 600
4. % 400

Question Number : 94 Question Id : 54592743524 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk AT H, Fel FFEEIT F 45% et fAferT & Jor 9y
sifeifereT &1 afe fRIf&T sei 1 @war 330 &, @ ang HT e

STAEEAT T §7

Options:

1. = 300
2. = 500
3. v 600
4. = 400

Question Number : 95 Question Id : 54592743525 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A’s income is 150% of B’s income and A’s expenditure is 160%
of B’s expenditure. If A’s income is 300% of B’s expenditure,
then what is the respective ratio of A’s savings and B’s
savings?

Options:



1.v7:5
2.%77:3
3.%3:7
4. % 5:12

Question Number : 95 Question Id : 54592743525 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A T T B T T FT 150% & AT A &7 3T B & &TT T
160% &1 afc A &1 3T B & =9 &1 300% &, ar A i s=g
Jar B T ST HT HHT: 37T FgT &7

Options:
1.v7:5
2. % 7 :3
3. % 3:7
4. = 5112

Question Number : 96 Question Id : 54592743526 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The population of a town is 10,000. The male population
increases by 25% and female population increases by 20%. If
the total population becomes 12,300, then what were the
initial number of females in the town?

Options:

1. v 4000
2. % 4500
3. = 3000
4. = 3500

Question Number : 96 Question Id : 54592743526 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Uk T hT Sereredr 10,000 g1 ST T Serwedr 25% & #99
ST § TUT Afgemsit $1 STaaedr 20% & 9§ Sl g1 Ife Fef
SFAEEAT 12,300 & SATET &, ar o8y H AT FT IRHE

&7 &7 2AT?

Options:

1. v 4000
2. » 4500
3. = 3000
4. = 3500

Question Number : 97 Question Id : 54592743527 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ratio of cost price and selling price of a fanis 6 : 7
respectively. What is the profit percentage?

Options:

1. = 14.28 percent
2. 12.5 percent
3. v 16.606 percent
4. = 15 percent

Question Number : 97 Question Id : 54592743527 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk T & FT Hed AT AT Hed T AT FAT: 6 : 7 B
olTeT wfarerd 4T 87

Options:

1. = 14.28 ufcerd
2. = 12.5 gfcerd
3. v 16.66 wfderd




4. = 15 gfJera

Question Number : 98 Question Id : 54592743528 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

A sold a watch to B at 50% profit. B sold the same watch to C
at 20% loss and C again sold the same watch to A at 10% loss.
In the beginning A purchased the watch for Rs 250. How
much money will C pay to B to purchase the watch?

Options:

1. = Rs. 375
2. v Rs. 300
3. % Rs. 280
4. % Rs. 325

Question Number : 98 Question Id : 54592743528 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

A @ B & 50% % T OT Uk ©eT STl B @ 36T wgr & C

T 20% kT Blfer O =T FouT C o 36T €37 R A R 10% H
Blfel UT S| E3TT H A o T8 HT 250 30 & T{IE o7 @3
Zlleat & fow C, B 1 frdel w92 2amm?

Options:

1. = 375 392
2. v 300 39
3. = 280 T
4. = 325 T

Question Number : 99 Question Id : 54592743529 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The selling price of a chair is Rs 735. The selling price of a
table is 16.66% more than its cost price. If the selling price of
table is 5% more than the selling price of the chair, then what
is the cost price of table?

Options:

1. = Rs. 670
2. » Rs. 640
3. v Rs. 661.5
4. » Rs. 691.5

Question Number : 99 Question Id : 54592743529 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U HEHT FT faRT AT 735 T &l Uh A F AHT Ao
384 T Hed ¥ 16.66% 3110 &1 Ifd AT &1 fasha Ao
i«‘%ﬁ & AR Ao 8 5% 379 &, d AT &1 5 Heod AT §7

Options:

1. = 670 39X
2. % 640 TUY
3. v 661.5 39
4. = 691.5 3y

Question Number : 100 Question 1d : 54592743530 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ifa:b=3:4, then what is the value of 2a : 3b?

Options:

1. 2:3
2.%3:4
3.v1:2
4 % 3:1



Question Number : 100 Question Id : 54592743530 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Iica:b=3:4% dr 2a: 3b F1 AT FAT &7

Options:

1. = 2 :
2. % 3

N R W

v 1

3
4, = 3 : 1

Arithmetic Ability?2
Group Number : 6
Group Id: 5459272156
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability?2
Section Id : 5459272156
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number : 1
Sub-Section Id: 5459272586
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 54592743531 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A child has 25 paisa coins and 50 paisa coins. The ratio of
number of 25 paise and 50 paise coins is 3 : 1. If he has an
amount of Rs 6.25, then how many 50 paisa coins does he
have?

Options:

1. = 15 coins
2. # 6 COINS
3. v 5 coins
4. » 10 coins

Question Number : 101 Question Id : 54592743531 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh §T o U 25 99 & e Jur 50 99 & &k g1 25
U T 50 U [HFRT T HEAT H g 3 ;1 &1 AR
3% T 6.25 U &, ar 33+ T 50 ¥ & fohaa e &7

Options:

1. = 15 @k
2. = 6 %+
3. v 5 @+
4. = 10 {ak

Question Number : 102 Question Id : 54592743532 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ratio of the incomes of A and B is 7 : 10 and the ratio of
their expenditures is 9 : 16. If they save Rs 2500 and Rs 2000
respectively, then what is their total income?

Options:

1. v Rs. 17000
2. Rs. 15000
3. = Rs. 18700




4. %= Rs. 19550

Question Number : 102 Question Id : 54592743532 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A TUT B FT 3T FT U 7 : 10 § TAT 3Tk =TT Hl
AT 9 : 16 1 AT @8 wAe: 2500 9 q=UT 2000 TR
AN T P &, AT 3T Fel 3T FAT &7

Options:
1p. v 17000 &9
2. = 15000 ¥
3. = 18700 ¥
4. = 19550 T9&

Question Number : 103 Question Id : 54592743533 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In how many years, simple interest becomes 2/5 of the
principal at the rate of 10% per annum?

Options:

1. » 3 years
2. % 3.5 years
3. v 4 years
4. = 3 years

Question Number : 103 Question 1d : 54592743533 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

10% wfd ¥ T T 8, TR AT forda awt & FereeT &
2/5 & SATI?

Options:

1. = 3 @y
2. = 35 a¥




3. v 4 ¥
4. » 5 ay

Question Number : 104 Question 1d : 54592743534 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rs 7000 is kept at 8% rate of interest for 2 years. Which of the
following is statement isfare correct.

I. Simple interest is Rs 1140
I1. Compound Interest is Rs 1164.8

Options:

1. = Only I
2.vOnly Il

3. = Both I and II

4. = Neither I nor II

Question Number : 104 Question Id : 54592743534 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

7000 39 S 2 Y & TOT 8% hr T & TS 9T I@T AT &l
Aol @d & & i AT F2UeT ol &7

. 1140 0 HIYROT AT §
I. 1164.8 97 <Ishglg =TT &

1p.waa—cm|
2. v Fae |l
3. % Glar | o |l
4, « AT @r | a1 8r i

Question Number : 105 Question 1d : 54592743535 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Rs 4964 is divided into two parts and each part is kept at the
rate of interest of 12.5 % per annum compound interest
(compounded annually). If the amount of the first part after 6
years is equal to the amount of the second part after 9 years,
then what is the sum of the first part which is kept for 6
years?

Options:

1. » Rs. 2248
2. » Rs. 2048
3. v Rs. 2916
4. % Rs. 2716

Question Number : 105 Question Id : 54592743535 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

4964 FIA T ar AT H FieT ST § d2T Tedeh 6T I
12.5% widay <shaig sATeT (@ HATolel ) HT sl & W
TET ST &1 Afg 6 a¥ s1g ugel 79T hr T 9 a¥ F &g gE
19T hT LTS & THAT &, o Igol Her hT TS =7 & S 6 a§t
SESRECINC I i

Options:

1. = 2248 39
2. % 2048 TU
3. v 2916 30
4. » 2716 U

Question Number : 106 Question 1d : 54592743536 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A car covers a distance of 1296 km in 30 hours. What is its
speed?



Options:

1. = 20 m/s
2. % 18 m/s
3.+v12m/s
4. = 15 m/s

Question Number : 106 Question 1d : 54592743536 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T AMSr 1296 ToR.AT. T i1 30 =er A dF AT &1 3EehT i
HT 57

Options:

1. = 20 #An/A.
2. = 18 AL/,
3. v 12 #ArA.
4, = 15 #ALME.

Question Number : 107 Question 1d : 54592743537 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A man covers half of a certain distance at 15 km/hr. He covers
40% of remaining distance at 12 km/hr and covers rest of the
distance at 6 km/hr. What is his average speed for the entire
journey?

Options:

1. » 11 kmn/hr
2. v 10 kmm/hr
3. = 15 km/hr
4. = 8 km/hr

Question Number : 107 Question 1d : 54592743537 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



U sgterd folfead git = 3md @8 1 15 fhAn/aer &1 i
" OF AT &1 98 AF gl FT 40%, 12 TR.AL/Eer T afd #
SRR TS %Hmaiﬁg‘é@aﬁe%.ﬁ.lﬁaﬁda FHLAT Tl
@ AET T 3T Al AT §?

Options:

1. = 11 Tr.AN/Eer
2. v 10 fr.drfaer
3. = 15 feh.#AT./eer
4. = 8 for.dArfaer

Question Number : 108 Question Id : 54592743538 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two trains of equal length cross a pole in 12 seconds and 18
seconds. If they travel in opposite direction, then how much
time will they take to cross each other?

Options:

1. = 15 seconds
2. » 36/5 seconds
3. v 72/5 seconds
4. = 36 seconds

Question Number : 108 Question Id : 54592743538 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT oFaTs hT &l ISTNTSAT Teh T hl 12 HHUS T 18
THUS H IX HAT &1 IS T Teh-gae 7 ool feem & amam
AT &, AT 306 Uh-gHY I IR Flel H Tohcloll HHAY olatam?

Options:

1. = 15 O%Ug
2. % 36/5 Q%kUz




3. v 72/5 dsvUs
4. « 36 QHUg

Question Number : 109 Question 1d : 54592743539 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

P can do a piece of work in 56 days. What percent of the total
work can be done by P in 42 days?

Options:

1. = 42 percent
2. % 60 percent
3. v 75 percent
4. = 72 percent

Question Number : 109 Question Id : 54592743539 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

P uh #1 ®T 56 foall A QU T Fehall g1 42 el & P Fel
FRT T TohdaT UTaTd T Hehdl &7

Options:

1. = 42 gferd
2. % 60 wfderd
3. v 75 wufaera
4. % 72 wfaerd

Question Number : 110 Question Id : 54592743540 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

5 men, working 14 hours a day, can build a wall in 14 days. If
X men, working 10 hours a day for 14 days, are paid Rs. 560 to
build the same wall, then how much money does each man
gets?

Options:

1. » Rs. 70



2. » Rs, 100
3. v Rs. 80
4, = Rs. 120

Question Number : 110 Question Id : 54592743540 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

5 9&Y 14 € Yidfee HH HiTh Uk AR 1 14 G # AR
T Hehod &1 AT x TEET A 14 et & T ufdfes 10 =@
HRT L TEI GAN Fellet & foIv 560 TU>F T SITcATel foha
ST &, dF Ucdeh edTerd @l Tohddal 398 [Hed 87

Options:

1. = 70 394
2. = 100 392
3. v 80 TU
4. = 120 392

Question Number : 111 Question Id : 54592743541 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

After working for 6 days, Reena finds that only 30% of the
work 1s completed. She employs Priya who 1s 80% more
efficient than Reena. How many more days they together take
to complete the remaining work?

Options:

1. = 6 days
2. = 8 days
3. v 5 days
4. = 10 days

Question Number : 111 Question Id : 54592743541 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



6 feoT T T o qeard §a7 o IE g7 T had 30% FHA
ﬁwgm%lﬁmﬁwﬁﬁ%ﬁﬂﬁﬁrwé?mmm

ﬁmﬁBU%mﬁ|aﬁ§cmaﬁﬁwwmﬁa€
3T Toraa e alair?

Options:

1. = 6 e
2. % 8 feat
3. v 5 feo
4, % 10 f&aT

Question Number : 112 Question Id : 54592743542 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the side of an equilateral triangle is 12 cm, then what is its
area?

Options:

1 % 24V3em?
9 o 3613 cm?
3 % 483 cm?

7243 ¢m?

4. =

Question Number : 112 Question Id : 54592743542 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afe ush THeTg Fegst #T 12 QAL &, O AT ahe F2AT E7

Options:




1. » 2B
3673 WA
3. 483 WA
4, = 7243 T2 2

Question Number : 113 Question Id : 54592743543 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The length of the side of a cube is 14 cm. What is the volume
of the cube?

Options:
1. v 2744 cm’

7 % 1834 cm?
3 x 1744 ¢m?

4 = 2174 cm?

Question Number : 113 Question Id : 54592743543 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh ©el T ST T oaTg 14 H.AL &1 O FT G0 F4T &7

Options:




1 2744 WA 3

oy 1834WTS

3 74T

4 % 217473

Question Number : 114 Question 1d : 54592743544 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The two adjacent sides of a parallelogram are 6 cm and 4 cm
respectively. If the one of the diagonals is 8 cm long, then
what is the area of the parallelogram?

Options:

.-,' q 2
1. “ o155 cm
615 cm?
3' “ 18415 cm=

4 % 18 cm?

Question Number : 114 Question 1d : 54592743544 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Uk HATR AT T &Y TAYTCAT AT FAA: 6 TAL ToT 4
a.7. &1 of ot & @ vk 8 QAL o &, A FACK A
T &Thol FAT &7

Options:

1 SVis@A

5 v 6715 H.HT.2

7 18VIsEAL

4 x 18T

Question Number : 115 Question Id : 54592743545 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The table given below shows the import and exports of a
country in 3 years.

Year Import | Export
Y1 4000 12000
Y2 6000 13000
Y3 3000 2000

What is the difference between total exports and total imports
of the given 3 years?

Options:

1. v 16000
2. » 14000



3. = 1000
4. » 12000

Question Number : 115 Question Id : 54592743545 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Eﬁ?}z‘?rmj’rmﬁa?waﬁﬁ?wa%ra:mawﬁaﬁﬁ
HI TeTaT F

Iy g | e

Y1 4000 12000
Y2 6000 13000
¥ 8000 9000

%U?@3aﬁ$5w%ﬂﬁﬁdm?m TS o ST T 3T
AT &7

Options:

1. v 16000
2. = 14000
3. = 1000
4. = 12000

Question Number : 116 Question 1d : 54592743546 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The table given below shows the number of faculties of
different subjects in a college.

Subject | Number of faculties
Maths 110
Science 123
Commerce 132
Hindi 196

The number of faculties of commerce is how much
percentage more than the number of faculties of Maths?

Options:

1. = 5 percent

2. » 10 percent
3. = 15 percent
4. v 20 percent

Question Number : 116 Question Id : 54592743546 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AT & IR OTfelehT Tk shiclel & e awat & theredalr ST
TEAT &I c2ITdT &l

Rug | Sedrar $r g

o 110
ICEIG] 123
o= 132

f&ar 196

aToeT & theheclAl ST TEAT ITUIT & thehea Il T T&IAT o
EGGIRIGHGRSICE IR -Y

Options:

1. = 5 gfcerda
2. = 10 yfcrerd
3. = 15 gfcrerd
4. v 20 vfaera

Question Number : 117 Question Id : 54592743547 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The table given below shows the number of red colour flower
sold by the shopkeeper on different days of a week.

Days | Number of flower
D1 40
D2 46
D3 48
D4 50
D5 36

What is the average number of red colour flower sold by the
shopkeeper per day?

Options:

1.+ 44
2. % 46
3. % 48
4. % 50

Question Number : 117 Question Id : 54592743547 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

s &1 IRT ATfelshT Uk Tectg & faffiea foall o0 ghreier
GANT S<I IR ool W7 & Gell 1 F&AT 1 LATar &

e | war @ wEa
DI 40
D2 16
D3 48
D4 50
D5 36

vicr el gehTela” @ S<h a1 offel {1 & Gell ol 3 §&dT
HT 57



Options:

1. v 44
2. = 46
3. = 48
4. = 50

Question Number : 118 Question Id : 54592743548 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The bar graph given below shows the number of buckets sold
by a shopkeeper on the different days of a week.

400 - 370
sl

250
250 4 200 = 210
200 A
150 4
100 +
50 A

Num ber of buckets

What are the total number of buckets sold by the shopkeeper
on days D1, D3 and D5?

Options:

1. = 600
2. % 620
3. = 640
4. v 660

Question Number : 118 Question Id : 54592743548 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Sl fear IR gus T v gediE & Afeied f&er # T
GhIea @R ST 915 Sifecdl T §E&AT S 2idr &

400 - 370
350 -
300 A EED 250
250 1 200 — 210

200 A

150 H

100 H
50 A
0

D1 D2 D3 D4 D5

arfeeat FHr TEaT

D1, D3 d1 D5 el # ghlelar @Ry sl 915 sifeedl T Fol

EIT FAT &7

Options:

1. = 600
2. = 620
3. = 640
4. v 660

Question Number : 119 Question Id : 54592743549 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The bar graph given below shows the number of copies sold
by a person on different days of a week.

400 - 3
350 1 g 340
300 - 260
250 1 100
200 -+
150 -
100 -
50 1

Num ber of copies

Dl D2 D3 D4
Day

What are the average number of copies sold by the person per
day?

Options:

1. = 250
2.v 275
3. = 300
4. % 325

Question Number : 119 Question Id : 54592743549 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Sl fear IR gus T v gediE & Afeied f&er # T
ST CANT ST 35 hITUAT ehl TEIT I AT &

400 1
350 1 300
300 - 260
250 1 200
200
150
100
50

340

o B

D1 D2 D3 D4

gford ganT i e St 918 it &1 siad g&ar =17 &7

Options:

1. = 250
2. v 275
3. = 300
4. = 325

Question Number : 120 Question Id : 54592743550 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The bar graph given below shows the number of females
working in a company in five consecutive years.

400 - 360
350 320
300
250 1 2

200 { 180 ]

150 - 140
100

S0 1

0 : 1

b 4 Y2 Y3 Y4 h &

Year

Num ber of fem ales

Number of females working in year Y5 are how much
percentage more than the number of females working in year
Y3?

Options:

1. » 69.42 percent
2. v 7142 percent
3. % 7342 percent
4. = 7542 percent

Question Number : 120 Question Id : 54592743550 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A 2T T v R 9l AT v U el Y
Y TaT ATgelT3l hT FEAT ST LITdT &l

400 360
350 - 320 ]
300 A
250 A 2
200 -

L 180 >
= ] H 140 |_|
E 100 A H
50 A
D T T T
Yl Y2 Y3

T

Y4 Y5

a§ Y5 # S T @I Afgenait Fr gear a¥ Y3 & sF
5T ATSST3T hr I&IT T Tohdal uiaerd TR &7

Options:

1. = 69.42 ufcerd
2. v 71.42 wfaerd
3. = 73.42 wfcerd
4. % 75.42 wfaerd
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Question Number : 121 Question Id : 54592743551 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

He will arrive 14th of February.

Options:

1. = in
2. % at
3. v on
4. = of

Question Number : 121 Question Id : 54592743551 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

He will arrive 14th of February.

Options:



1. = In
2.

3. v on
4, = of

Question Number : 122 Question Id : 54592743552 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

The orator was very

Options:

1. = tongue-tied
2. » Inarticulate
3. v eloquent

4. » mum chance

Question Number : 122 Question Id : 54592743552 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

The orator was very

Options:

1. = tongue-tied
2. ® Inarticulate
3. v eloquent

4. = mum chance



Question Number : 123 Question 1d : 54592743553 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

They go hiking summer.

Options:

1. = on
2. % at
3.v1n
4. = of

Question Number : 123 Question 1d : 54592743553 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

They go hiking summer.

Options:

1. = on
2. % at
3. ¢ In

4, = of

Question Number : 124 Question 1d : 54592743554 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

I have interest in history.



Options:

1. » a few

2. v little

3. = not much
4. » lessen

Question Number : 124 Question 1d : 54592743554 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

| have Interest in history.

Options:

1. = a few
2. v little
3. ®= not much

4. = |essen

Question Number : 125 Question Id : 54592743555 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

She will return the end of the week.

Options:

1. = in
2. % 0N
3. vat
4. = until



Question Number : 125 Question Id : 54592743555 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

She will return the end of the week.

Options:

1. = In
2. ¥ 0N
3. v at

4. = until

Question Number : 126 Question Id : 54592743556 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

[ will take your advice.

Options:

1. v Henceforth
2. » Hereforth
3. = Hereupon
4, = From now

Question Number : 126 Question Id : 54592743556 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

| will take your advice.

Options:

1. v Henceforth
2. * Hereforth
3. = Hereupon
4. = From now

Question Number : 127 Question Id : 54592743557 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the part of the given sentence that has an error in it. If
there 1s no error, choose ‘No error’.

The poor (1) / little girl (2) / was sitting in the room (3) /. No
error (4)

Options:

1. %1
2. % 2
3.% 3
4. 4

Question Number : 127 Question Id : 54592743557 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the part of the given sentence that has an error In It

If there 1s no error, choose ‘No error’.

The poor (1) / little girl (2) / was sitting In the room (3) /.
No error (4)

Options:

1. % 1
2. % 2
3. % 3
4. v 4

Question Number : 128 Question Id : 54592743558 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the part of the given sentence that has an error in it. If
there is no error, choose ‘No error’.

I'm not (1) / use to (2) / a cold climate (3) /. No error (4)

Options:

1. =1
2. v 2
3.3
4 %4

Question Number : 128 Question Id : 54592743558 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the part of the given sentence that has an error In It

If there 1s no error, choose ‘No error’.

I'm not (1) / use to (2) / a cold climate (3) /. No error (4)

Options:

1. % 1
2. v 2
3. % 3
4. % 4

Question Number : 129 Question Id : 54592743559 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the part of the given sentence that has an error in it. If
there 1s no error, choose ‘No error’.

All depends on (1) / Ashok’s winning (2) / a scholarship (3) /.
No error (4)

Options:

1. %1
2. % 2
3.% 3
4. 4

Question Number : 129 Question Id : 54592743559 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the part of the given sentence that has an error In It

If there 1s no error, choose ‘No error’.

All depends on (1) / Ashok’s winning (2) / a scholarship (3)
/. No error (4)

Options:

1. % 1
2. % 2
3. % 3
4. v 4

Question Number : 130 Question Id : 54592743560 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of the given four alternatives,
select the alternative which best expresses the meaning of the
Idiom/Phrase.

To see eye to eye

Options:

1. = Not to bear any fruit
2. = Something

3. v To agree completely
4. = Meet somebody

Question Number : 130 Question Id : 54592743560 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, out of the given four alternatives,
select the alternative which best expresses the meaning of
the Idiom/Phrase.

To see eye to eye

Options:

1. = Not to bear any fruit
2. » Something
3. v To agree completely

4. = Meet somebody

Question Number : 131 Question Id : 54592743561 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that can substitute the given sentence.

One who is a centre of attraction

Options:

1. * Demagogue
2. » Bohemian
3. = Debonair
4. v {ynosure

Question Number : 131 Question 1d : 54592743561 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that can substitute the given sentence.

One who Is a centre of attraction

Options:

1. = Demagogue



2. = Bohemian
3. = Debonair

4, v Cynosure

Question Number : 132 Question 1d : 54592743562 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that can substitute the given sentence.

A person who draws or produces maps

Options:

1. = Psephologist
2. = Lexicographer
3. v Cartographer
4. = Calligrapher

Question Number : 132 Question Id : 54592743562 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that can substitute the given sentence.

A person who draws or produces maps

Options:

1. = Psephologist
2. » Lexicographer
3. v Cartographer
4. = Calligrapher

Question Number : 133 Question Id : 54592743563 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the word that can substitute the given sentence.

A small group of people having control of a country or
organization

Options:

1. = Neocracy
2. = Kakistocracy
3. » Monarchy
4. v Oligarchy

Question Number : 133 Question Id : 54592743563 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that can substitute the given sentence.

A small group of people having control of a country or

organization

Options:

1. = Neocracy
2. = Kakistocracy
3. = Monarchy
4. v Oligarchy

Question Number : 134 Question Id : 54592743564 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Rearrange the parts of the sentence in correct order.

The GST 1s meant

P: tax across the country on
(: products and services

R: to be a unified indirect

Options:

1. * PQR
2. * RQP
3. » QRP
4, v RPQ

Question Number : 134 Question Id : 54592743564 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rearrange the parts of the sentence In correct order.

The GST 1s meant
P: tax across the country on
QQ: products and services

R: to be a unified indirect

Options:

1. = PQR
2. » RQP
3. = QRP
4. v RPQ

Question Number : 135 Question Id : 54592743565 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the given question, four words are given out of which one
word is correctly spelt. Choose the correctly spelt word.

Options:

1. v Happily
2. = Hapily
3. » Happelly
4. = Hapelly

Question Number : 135 Question 1d : 54592743565 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which

one word Is correctly spelt. Choose the correctly spelt word.

Options:

1. v Happily
2. = Hapily

3. = Happelly
4. = Hapelly

Question Number : 136 Question Id : 54592743566 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose an odd one out:

Options:

1. = abeyance

2. = unresolved
3. = iIncomplete
4. v continuing

Question Number : 136 Question Id : 54592743566 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose an odd one out:

Options:



1. = abeyance
2. ® unresolved
3. ® Incomplete
4. v continuing

Question Number : 137 Question Id : 54592743567 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a synonym — antonym pair?

Options:

1. = delight — amuse

2. = destroy — retain

3. v deprive — give

4. = deliberate — consult

Question Number : 137 Question Id : 54592743567 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following 1s a synonym - antonym pair?

Options:

1. = delight - amuse

2. » destroy - retain

3. v deprive - give

4. = deliberate - consult

Question Number : 138 Question 1d : 54592743568 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that is opposite in meaning to the given
word.

PARASITE

Options:



1. = flatterer
2. = sycophant
3. * ban

4. v loyal

Question Number : 138 Question Id : 54592743568 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that 1s opposite iIn meaning to the given

word.

PARASITE

Options:

1. = flatterer
2. = sycophant
3. ® ban

4. v |loyal

Question Number : 139 Question 1d : 54592743569 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

I have read (a little) of the book.

Options:

1. v a few pages

2. = ]ittle pages

3. = little too many pages
4. » No Improvement

Question Number : 139 Question Id : 54592743569 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Improve the bracketed part of the sentence.

| have read (a little) of the book.

Options:

1. v a few pages

2. = |ittle pages

3. = |ittle too many pages
4, = No Improvement

Question Number : 140 Question Id : 54592743570 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

If water (is frozen), it expands.

Options:

1. » will freeze

2. » will be frozen

3. = freezed

4. v No Improvement

Question Number : 140 Question Id : 54592743570 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

If water (is frozen), It expands.

Options:

1. = will freeze

2. = will be frozen



3. = freezed

4. v No Improvement
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Question Number : 141 Question Id : 54592743571 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

Laxman (used to) visit this temple everyday.

Options:

1. = had used to
2. » will have



3. = had been to
4. v No Improvement

Question Number : 141 Question Id : 54592743571 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

Laxman (used to) visit this temple everyday.

Options:

1. = had used to
2. = will have
3. *= had been to

4. v No Improvement

Question Number : 142 Question Id : 54592743572 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

Sohan love this place.

Options:

1. v use to
2. % 1s1n
3. = have
4. = had

Question Number : 142 Question Id : 54592743572 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

Sohan love this place.

Options:
1. v use to
2. % 1S In
3. * have
4. = had

Question Number : 143 Question Id : 54592743573 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose a sentence that contains an error.

(1) She knows how to drive.

(2) An old man is selling fruits.

(3) Sanya cannot spoke English very well.
(4) My brother passed the examination.

Options:

1. %1
2. % 2
3.v3
4. %4

Question Number : 143 Question Id : 54592743573 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose a sentence that contains an error.

(1) She knows how to drive.
(2) An old man Is selling fruits.
(3) Sanya cannot spoke English very well.

(4) My brother passed the examination.

Options:

1. % 1
2. % 2
3.+ 3
4. % 4

Question Number : 144 Question 1d : 54592743574 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose an idiom which means

excess baggage

Options:

1. » All out

2. = Acid test

3. v Any person or thing that is unwanted
4. = Birds of the same feather

Question Number : 144 Question Id : 54592743574 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose an i1diom which means

excess baggage

Options:



1. = All out

2. = Acid test

3. v Any person or thing that i1s unwanted
4,

# Birds of the same feather

Question Number : 145 Question Id : 54592743575 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rearrange the parts of the sentence in correct order.

Alas, we are

P: the pressing

(Q: Issues nowadays

R: not discussing any of

Options:

1. = RQP
2. v RPQ
3. % QRP
4. * PRQ

Question Number : 145 Question Id : 54592743575 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rearrange the parts of the sentence In correct order.

Alas, we are
P: the pressing
Q: Issues nowadays

R: not discussing any of

Options:

1. = RQP



2. v RPQ
3.« QRP
4. « PRQ

Question Number : 146 Question 1d : 54592743576 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one
word is correctly spelt. Choose the correctly spelt word.

Options:

1. = Fuorth
2. v Fourth
3. = Furth
4. = Foureth

Question Number : 146 Question Id : 54592743576 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which

one word I1s correctly spelt. Choose the correctly spelt word.

Options:

1. = Fuorth
2. v Fourth
3. = Furth

4. = Foureth

Question Number : 147 Question Id : 54592743577 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a synonym — antonym pair?

Options:

1. v misfortune — prosperity
2. » allen — foreigner



3. » harmony — accord
4. = adhere — comply

Question Number : 147 Question Id : 54592743577 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following 1s a synonym - antonym pair?

Options:

1. v misfortune - prosperity
2. % alien - foreigner

3. *= harmony - accord
4.

* adhere - comply

Question Number : 148 Question 1d : 54592743578 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

The boy showed great (kind) to his friend.

Options:

1. = kind hearted

2. » Kind heart

3. v Kindness

4. » No Improvement

Question Number : 148 Question Id : 54592743578 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

The boy showed great (kind) to his friend.

Options:

1. = kind heared



2. = kind heart
3. ¢ kindness

4, = No Improvement

Question Number : 149 Question 1d : 54592743579 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.
sun is the center of our solar system.

Options:

1. v The
2. % A

3. % An
4. = One

Question Number : 149 Question Id : 54592743579 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

sun is the center of our solar system.

Options:

1. v The
2. % A

3. * An
4. = One

Question Number : 150 Question Id : 54592743580 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the part of the given sentence that has an error in it. If
there 1s no error, choose ‘No error’.

The girls (1) / was playing with (2) / their new dolls (3) /. No
error (4)

Options:

1. %1
2.v 2
3.3
4. %4

Question Number : 150 Question 1d : 54592743580 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the part of the given sentence that has an error In It.

If there 1s no error, choose ‘No error’.

The girls (1) / was playing with (2) / their new dolls (3) /.
No error (4)

Options:

1. % 1
2. v 2
3. % 3
4. % 4

Question Number : 151 Question Id : 54592743581 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose an idiom which means

Until the end despite difficulties

Options:



1. = A bird in hand
2. = A black spot

3. = Cats and dogs

4. v To the bitter end

Question Number : 151 Question Id : 54592743581 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose an i1diom which means

Until the end despite difficulties

Options:

1. = A bird in hand
2. » A black spot

3. » Cats and dogs
4. v To the bitter end

Question Number : 152 Question Id : 54592743582 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rearrange the parts of the sentence in correct order.

The first-wave feminism of
P:overturning legal inequalities
(Q: the nineteenth and early
R: twentieth century focused on

Options:

1. * RQP
2. » PRQ
3. * QPR
4. v QRP



Question Number : 152 Question 1d : 54592743582 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rearrange the parts of the sentence in correct order.

The first-wave feminism of
P:overturning legal inequalities
Q: the nineteenth and early

R: twentieth century focused on

Options:

1. = RQP
2. = PRQ
3. = QPR
4. v QRP

Question Number : 153 Question Id : 54592743583 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one
word is correctly spelt. Choose the correctly spelt word.

Options:

1. = Slopeng
2. = Sloppinng
3. v Sloping

4. = Slopeing

Question Number : 153 Question Id : 54592743583 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which

one word Is correctly spelt. Choose the correctly spelt word.

Options:



1. = Slopeng
2. = Sloppinng
3. v Sloping

4. = Slopeing

Question Number : 154 Question Id : 54592743584 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that is opposite in meaning to the given
word.

ABRIDGE

Options:

1. » compress
2. = condense
3. » concrete
4. v enlarge

Question Number : 154 Question Id : 54592743584 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that I1s opposite iIn meaning to the given

word.

ABRIDGE

Options:

1. * compress
2. ® condense
3. ® concrete

4, v enlarge



Question Number : 155 Question 1d : 54592743585 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

She {(thrown) it out of the window.

Options:

1. v threw

2. = throwed

3. » throw

4. » No Improvement

Question Number : 155 Question Id : 54592743585 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

She (thrown) 1t out of the window.

Options:

1. v threw

2. = throwed

3. = throw

4, = No Improvement
Sub-Section Number: 2
Sub-Section Id: 5459272589
Question Shuffling Allowed : Yes

Question Id : 54592743586 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the following information carefully and answer the
given questions.

Adeline Virginia Woolf was an English writer, considered one
of the most important modernist 20th-century authors and
also a pioneer in the use of stream of consciousness as a
narrative device.Woolf was born into an affluent household
in South Kensington, London, the seventh child in a blended
family of eight. Her mother, Julia Prinsep Jackson, celebrated
as a Pre-Raphaelite artist’s model, had three children from
her first marriage, while Woolf’s father, Leslie Stephen, a
notable man of letters, had one daughter. The Stephens
produced another four children, including the modernist
painter Vanessa Bell. While the boys in the family received
college educations, the girls were home-schooled in English
classics and Victorian literature. An important influence in
Virginia Woolf's early life was the summer home the family
used in St Ives, Cornwall, where she first saw the Godrevy
Lighthouse, which was to become central in her novel To the
Lighthouse (1927).

Woolf's childhood came to an abrupt end in 1895 with the
death of her mother and her first mental breakdown,
followed two years later by the death of her stepsister and a
mother figure to her, Stella Duckworth. From 1897 to 1901,
she attended the Ladies’ Department of King's College London,
where she studied classics and history and came into contact
with early reformers of women'’s higher education and the
women’s rights movement. Other important influences were
her Cambridge-educated brothers and unfettered access to
her father’s vast library.

Encouraged by her father, Woolf began writing professionally
in 1900. Her father’s death in 1905 caused another mental
breakdown for Woolf. Following his death, the Stephen
family moved from Kensington to the more bohemian
Bloomsbury, where they adopted a free-spirited lifestyle. It
was in Bloomsbury where, in conjunction with the brothers’
intellectual friends, they formed the artistic and literary
Bloomsbury Group.



Sub questions

Question Number : 156 Question Id : 54592743587 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is not true about Virginia Woolf?

Options:

1. * Woolf was born into an affluent household

2. v Woolf's childhood came to an abrupt end in 1894
3. » She was an English writer

4. = Woolf was a member of Bloomsbury Group

Question Number : 157 Question Id : 54592743588 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What was the reason for her first mental breakdown?

Options:

1. = She was considered one of the most important modernist
2. » Her father’s death

3. v Her mother’s death

4. = Death of Stella Duckworth

Question Number : 158 Question 1d : 54592743589 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who encouraged Woolf to start writing professionally?

Options:

1. = Her friends
2. » Her mother
3. v Her father

4. = Her stepsister

Question Number : 159 Question 1d : 54592743590 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the synonym of the word ‘conjunction’?

Options:

1. * Antagonism



2. = Detachment
3. = Division
4. v Concurrence

Question Number : 160 Question Id : 54592743591 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the antonym of the word ‘intellectual’?

Options:

1. = Unfettered
2. » Rational
3. » Thoughtful
4. v Ignorant

Question Id : 54592743586 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



